0 -@ﬁmmmmm@mﬁzﬁmyﬁ Tl ?

A) FHIEEAT AT ST ) WER HTAT W
p) HFAERE arnd Mmmwmmm
p) roreher ¢ AT AT et oree s,
Ay C) WFA
By 3T D) R
3) ergrér oY, HTSUT YT AT IRATAT Arewar 3.
A) AT TR C) e id g
B3) T B HIOY D) ST STaoT
4y TONRRIETT EreeTedT SATATIT_HehHle HIATd Sare!.
IIRTAE e THETATS! WAl Ao aravar fAas.
A) 3af““m ) a1 aT?o'UT
B) 3fmax QT D) 3/ 3T &0

5) '@ arsoy AT aIEFTERTET Gt 31 Slorar ?
A) 3T dR drge ToTor ¢) aer a0
R) ASTERW dreror D) W FE For

6) garer Eleziciiregicall @Wmﬁz_ﬁwwmm?

'mmﬁamﬁmmwmﬂwwmﬁ.'
C) ae
D) TH

A) TR
B) dref

7) FoT T AT HRAAEIR A AT ST PO ?

A) SLATARS - GUANR C) .A.3he - HISHTF

B) AT TS - FITHST D) $fer we - §FR
§) UeHAGINCEA U ese feeiel 31Te. ey g SiEY foias:
A) SHTEaT R ds-ye / AYeIToT T TereT-3
B) ISSUATYElE HHI-TFIEY D) F&eR B SIVTRT dgel- Seshicil.
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9 S G s i e AOT?

AT I AT 3 ey C) 33er 3ifds Jnfor o
B) &g amofy D) TGTrEY
10) ITEFHR 3esr,

HOOMS TR ST STy ||

£, BT e C) SET HFR
L R e D) TR 3HR
1) ASFR 3Nesar,

mmmﬂﬁwma}mmmm.
é)mam

B) @ 3rdd

Q) TIFH ANTHR
D) 3T IHTFR

‘2>Wmmmﬁﬁmmm.

A) "ﬁ!mmmmaémwaamam C) ‘8 STeAEeR Hr @ INTE AT TEHOIR
P B SIaearserl # 7 e are o D) "8 StaediHe] # ¥ MY g TE0TR

A) eHR C) FITFHa
B) gAY D) Frafa

14) el reerar AT 3T Wielel TAaAye Hasr. suadr

A) SIRAG Iree fAeomT sr C) SPRIS 390 qraomdy #7dY
B) SHRIGHA HIFSUIRT Gatrar P)mmmsmwv}ﬁ,

AdUaTET A& 97T,

(5) ‘g3Tmar AT venr eerl Tt Asewg e

A) Bl cTFITHE Tard C) & TR gagrd
N A FegiAder sem D) & UTHANT AT
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16) TEoNaeed Wt AT ST Ivesar. .
A) @IOT Rl AN - SISO A, C) T WX WY - NS AT FIHIA

B) ISl A ISA FA - AGES FON-ATeAT oYy Tl A,
BT FTET I gl Y. /DYWWWM@-H&W(W
3T,

17) GO AU S Fgor AT A 3T T .

FIETTRATRTTE HTET Aedmay a7 FRAT $aar v g, Forared el
A) UTILAT ggATaY qrofl, c) R A fOFa A’
Bf aearer e T wE? D) gewTEId SRl AR,

18) ‘mmqmm’mm-mgmmmm?

A amaRdE e ¢) TRy fRame
B) AT BRI D) ATIRT TR AR

19) ‘fA@uaE goT a1 aevaRTAT At aevar 3o r.

A) disga a0 &) GAUATE FHI0T
B) e Feor D) dis geor

20) AT UCGAYA 3YHI @l

y T . C) R
B) $& D) darT

21) T &dl @, “TATHT SRT IHT arcel.”
e C) I
B) ST ' D) arcar

22) ST INSET-AN S TS AT FARMATA arad 8.

WS FHA weT C) Faofr warer

B) o7& wraT D) HHOT gAarer
23) AT AN AFeT APTECEH QAW AT SUM-AT eI ... FEUTAT.

K fasmor C) ¥ fasor

B) oT faLyor D) IARTT FEaEE FwoT
Z-23-C 5
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24) " ST 3R o R w1 S,
A) HanfsT T : Q) sfsgurfasy H1B
B) IIAHRST T D) Ay TaRET AN

25) Wwﬁmm'mmmwm
A) UFIEIHON | C) TP
B) qeyehaofy | P Hrasalr

26) Till in the blank with appropriate pronoun
‘One should not boast of ....... Merits’.
A) his , C) one’s
B) hers '

D) its

27) Combine the following sentences into simple sentence.

He had many faults. But he was a good man at heart.
A) Though he had many faults, he was a good man at heart. C)

As he was a good man at heart, he had many
B) In spite of having many faults, he was a good man at

faults.
heart. D) While he had many faults, he was a good man
at heart,
28) Sheel

a was kept waiting by her husband. Change the voice.
A) Her husband wanted Sheela to wait.

C) Sheela was made to wait by her husband.
B) Her husband kept Sheela wailing.

D) None of the above.

3_9) Choose the correct version of No sooner-than
‘As soon as the day of sunlight is over, the day ofmoonlighl begins.’
A) No sooner does the day of sunlight over than
the day of moonlight begins.
B) No sooner the day of sunlight is over than the
day of moonlight begins.

C) No sooner is the day of sunlight over than the
day of moonlight begins.

D) No sooner did the day of sunlight over than the
day of moonlight begins.

30) his principles, he has to be very careful.
A) with regard of

C) with regard to
B) with regard on

D) None of these

31) Choose the word spelt cofreétly.
A) Ambulance

C) Ambulancs
B) Ambulence

D) Ambalence

32) He aims passing this test.
A) on C) with
B) at D) upon
Z-23-C b
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Find out one correct alternative of type of tense of underlined word.

When a farmer was returning home from the market, dark clouds gathered the sky.

A) Simple past tense C) Past conlinuous tense
B) Present continuous tense D) Future continuous tense

33)

The way he is burnin the candle at both ends, he will soon be a pauper. The underlined phrase means ...............
A) Tobe extravagant : C) To be moderate i
B) Tobe reasonable D) None of the above

34)

35) What is the Meaning of Soft-Soap?

A) Adamant C) Inspire

B) Suffuse D) Gentle Urging
36) Choose the correctly spelt word.

A) Atmasphere C) Atmesphere

B) Atmosphare D) Atmosphere
37) He was a good swimmer so he swim to the river»bank when the boat sank.

A) Could ' C) Succeeded

B) Might D) Was able to

58 Read the information carefully. Choose the specific word that is described in the clue.

)
“ Many people believe that if a cat crosses your path, then your work will not be done. Many times pcople believe
in things which are not really logical or reasonable. It is called
A) Trust ‘ : C) Fantacy
B) Fact D) Superstition
39) Complete the dialogue with correct option
Meena- L am getting ................ it’s too cold here.
Mother- Don’t worry dear. I’ll bring sweater for you.
A) Bored : : C) Tired
B) Confused ‘ _ D) Chilled to bone

| 40) Choose the word closést in meaning to the word printed in capitals in the following sentence :
The company’s future is CONTINGENT on the outcome of the trial. ’

A) Contagious ~ C) Conltiguous
B) Dependent D) None of the above

41) Change the following into indirect speech :
He said, “I have been helping the poor.”
A) He told that he has been helping the poor. C) He tells that he has helped the poor.

B) He said that he had been helping the poor. D) He says that he is helping the poor.

42) Find odd man out '
A) Freedom 0)) Po%/erty
B) Wisdom D) Poor man

43) Identify the type of underline word.

Komal got a beautiful dress at the mall.

A) Preposition C) Noun
B) Adjcctive D) Conjunction
Z-23-C 7
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44) No sooner did 1__ theroom____ the intruder ran away.
Choose proper words from the following words to fill in the blanks in the above sentence.
A) entered, than ‘ C) enlered, then
B) enter, than D) enter, then

45) Which one of the given options is correct about the given sentence?
‘Either she or they have to attend the meeting’
A) right C) use of they in the sentence is wrong
B) wrong D) verb ‘have’ should be ‘has’®

46) Change the following into indircct speech.
He says. “Itis a fine day”
A) He said itis a fine day. C) He says that it was a fine day.
B) He said that it was a fine day. D) He says that it is a fine day.

47) Tt was a very fine morning; -
Which of the options best represents the exclamatory form of the above sentence?
A)  What was the fine morning!

C) The moarning was very fine!
B) How fine was the morning!

D) What a fine morning it was!

48) Antonym of Blunt

A) Easy ; C) Sharp
B) Lazy ‘ D) Speedy

. 49) Synonym of Abjure
'A) To give ‘

C) Happy
B) To take back

D) Sorry

50

~

Choosc the word spelt correctly.
A) Maxculine
) Massculine

, C) Masculine
D) Macsculine

Find oddman out regarding the Maharashtra Right to Public Services Act, 2005,
HENTE FAMHAAT §oeh HAALIA, 009 TAT I TSIT. e,

A) Transparent

s
=

C)' Freedom to expression -

B) Efficient D) Timely
52) 1 coloric=__ _ lules.

¢ BT = S

A) 3.6x10° C) 1.356

B) 4.184 ; : : D) 746

53) Who won Indians first Olympic Gold Medal in Athletics?
3ﬁmﬁammﬁmmmmm-
A) P.V.Sindhu C) Major Dhyan Chand
BB) Neeraj Chopra D) Mirabai Chanu

54) Which onc of the following does a TV remote control unit use to operate a TV set?

el Farar RAe seemey AT AT el ST,

A) - Light waves C) Microwaves

B3) Sound waves D) Radio waves
2230 8
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55) The language spoken by the largest number of native speakers in the world is:

Fperferardage G AT SOy S o7 .. IR,
A) Hindi C) Mandarin
B) English D) Spanish

56) When is the World Patient Safety Day observed?
ST T90T YT fEaH Hegl AR Fwvara Aa.

A) Scplcmbcr 15 C) Seplcmber 17
B) September 16 D) September 18

57) *EVM’ stands :

& 8UA. U -
A) Electric Vending Machine C) Electronic Voting Machine
B) Electronic Vending Machine D) None of the above

58) Who is the author of the book “The Accidental Prime Minister™?
‘g Nrdded WA AfAERT o1 qrawr dus FHor ga?
A) Rajdeep Sardesai C) Kuldeep Nayar
B) Karan Thapar D) Sanjaya Baru

59) Which country’s Tiger Census has set a Guinness Record, for being the world’s
largest camera trap wildlife survey?

FNUTTT SATTAT SATERVAAT Al Fefier IFEAey aRoaa el 3, sﬂa:maaﬁamﬁrm

¥ arasha gdeToT AEH 311??
A) Indonesia C) Russia
B) India - D) Malaysia
60) Carlton Chapman, who passed away recently, is associated with which sports ?
FHIde YIAA, AT Fhod AU gel, & e Ir W3R T&ERT 8.
A) Cricket C) Basket Ball
B) Hockey D) Foot Ball

61) Which organisation operates the ‘FAST Tag’ in India?

TIAETRT FOT FEAT HRATT “BRFE 91" TRl eTacl?
A) Tata Consultancy Services C) National nghways Authority of India

B) Highways Department of states D) State Bank of India

62) The world’s largest COVID care centre was established in which Indian state/ UT?

mmmﬁﬁgaw@agmmmmmmmmmm»

A) Maharashtra C) Gujarat
B) New Delhi D) Tamil Nadu
Z-23-C 9
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63) Which Indian-origin nursé has been conferred with the Singapore President’s Award
for COVID-19 Services? '

TNty .............. 1 STRRT e TR AT - g YaeRaT RIFTGY TR JENE
TrAITAT FUATT 3.
A) Kala Narayanasamy C) Ankit Bharat
B) Bhasha Mukherjec D) Uma Madhusudan
64) Who has composed India’s Official Olympic Theme Song for Tokyo Olympics?
A 3ftfciRiemRdar siarear 3fga “3fife dhewer sfiard caer S0 e 3
A) Mohit Chauhan C) A.R.Rahman

B)  Arijit Singh D) Shankar Mahadevan

65) Who was the captain of the Indian men’s hockey team for the Tokyo Olympics?
A) Manpreet Singh

C) Harmanpreet Singh
B) PR Srecjesh

D) Birendra Lakra

66) The sea coast of which one of the following states has become famous as a nesting
place for the Olive Ridley turtles from Pacific?

mmmmammmmmm
g
A) Goa

C) Odisha

B) Gujarat D) Tamil Nadu

67) 1f the act passed by parliament proved that it is against the principle of constitution, it is
termed as:

mmmmmmmmmmmmmwmmz
A) Ultravires

C) Illlegitimate
3) Intravires

D) Legitimate

68) Which of the following sequences of Ghats in Maharashtra from South to North is
correct?

FERTSCIATST Wiellel BT G018 Sccihs SHI0aT Hal alay 3 ?
A) Bor, Kumbharli, Amba, Fonda

C) Kumbharli, Fonda, Bor, Amba
B) Fonda, Amba, Kumbharli, Bor

D) Amba, Bor, Fonda, Kumbharli

1 69) Most of the matter in the universe exists in the ;
i ATl sgad Tare Forear Rudi siftaeara saE?
“A) liquid state

C) gaseous state
B) solid state

D) plasma state

70) An example for non-renewable source of energy:
GIeNTdHT For Iadad=1T 3f= sameor 3me?

A) Solar energy C) Wind energy
B) Petroleum D) Walter power

Z-23-C 10
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71) In which district of Maharashtra the first co-operative sugar factory was established

Wmﬁmmmmmwmm

A) Kolhapur C) Ahmednagar
B) Sangli D) Pune

72) Which one is recognised as “State Tree” in Maharashtra?
WAIRT HTAT G HAFRISE IS U5 e Heere ST ?
A) Banyan tree C) Neem tree
B) Jackfruit tree D) Mango tree

73) After returning from South Africa, Gandhiji launched his first satyagraha in 1917.

in:
tRey AT WHY NThhed R HoAqay Tefaielr .o AYA IRedT WARIGTAT R el
A) Chauri-Chaura C) Champaran
B) Dandi D) Bardoli
74) Who/Which of the following is the custodian of the Constitution of India?
................... ¢ AR WIeUE e I
A) The President of India C) The Lok Sabha Sceretariat
B) The Prime Minister of India D) The Supreme court of India

75) Recently, for the first time in our country, which of the following States has declared
Blue mormon butterfly as ‘State Butterfly*?

ThAT WIATATDT e, AN (AT SR HETIH o], AATA" AR Vo Feras” @l
gatT e 3me.

A) Arunachal Pradesh C) Karataka

B) Himachal Pradesh D) Maharashtra

76) Which word do not fit in the group?

T o FHUIRT 2AG HIoTar ?
(A) Pistol : (C) Sword
(B) Gun (D) Cannon

77) 832X 455-832X355=7?
3 X Y4y - (3R X Yy =7

A) 83200 C) 8320
B) 82300 D) 832000

78) Find the contradictory word from the following words:
Acre, Kilometer, Square feet, Hector

erear e e greg e,

A) Acre C) Square feet
B) Kilometer D) Hector
Z-23-C 1
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79) What should come in place of question mark (?)

MRATIRTAT FARN HTT ASA?

AY, BX, CW, DV, ?
A) GH C) EU
B) EF D) EV

80) Ifin the number “5321674" all the digits are arranged in descending order from left to right, how many digits will
remain at the same position ?

mmmwma@?ﬁﬂﬁmmmmmmmmmwm

A) None C) Two
B) One , D) Three

81) Following question is based on the five words given below, Study the following words and answer the question :

JEIT TR Wielel T R[egia TR el WA ree 33y @ Raedr Y2 3eal adl.

SAND CARE RUIN MOON NICE
If the letters are arranged in alphabetical order within the words then how many words will start with a vowel?

SR ST IUTATCINTT BN FATHR Aeerel TAA Seare el arecrely Feard Saeeliel TR gréer?
A) One C) Two
B) Three D) Four

82) Following question is based on the five words given below, Study the following words and answer the question :

YIS TR WSl T Areaiay MR 3R Wl 26 HITT F Reredr YRy Sea¥ .

SAND CARE RUIN MOON NICE

If the given words are arranged in the order as they appear in a dictionary from lefl to right, then which of the
following word will be second from the right end ?

S feetear ereerdr Ao e oTTHATOY STihge Sodihs Hhell. TR ISTAFEA GENT AUIRT g HOTAT?

A) RUIN C) SAND
B) MOON D) NICE

83) Following question is based on the five words given below, Study the following words and answer the following
question :

JEITT SIRET Welel qT Qreejay TR R WTellel QUee I § Reear Toar Seek &
SAND CARE RUIN MOON NICE

If'in each of the given words, every consonant is changed to its previous letter and every vowel is changed to its
next letter according to the English alphabetical series, then in'how many words, thus formed, at least one vowel
will appear ?

SR fedear reardier Yd® et & crear 3mit AUT-AT AR T RS TR ¢ reaeeR Aom-ar

smf’rav‘mm-cﬁwsfmwv‘rmﬁ R TUR Q-7 ey eeld fFATT U Taw 3rer?
A) One : ; C) Three
B) Two ; D) None
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g4) A, Band C are sisters. D is the brother of E and E is the daughter of B. How is A related to D?

A, B afEr C g afoll HRA. DETE AT 815 3¢ TE & B Al HR. T A D D O et Fwpe
C) Nicce

A) Sister
D) None of these

B) Cousin

Statement : Ability is poor man’s wealth

e &TAdT & I ATCTETET H9edl 3.

Conclusions :

IGi=acs

A) A poor man is always able. C) A wealthy man is always able.

B) A poor man has the ability to earn wealth. D) A poor man can eam wealth if he has ability.

85)

In a group of five people, K,L and M arc ambitious, M,N and R honest .L.M and K,N and R are industrious.
Among these neither industrious nor ambitious person (s) would include.

WE’-‘T&?ﬁWWK-LmMﬁmm;.M,NmRWW;L.MW

K,NaRmm.mmmmamﬁwﬁﬁaﬁﬁW

A) Kalone C) MandN
B) LandR D) None of the group

86)

87) Consider the following figures:

QTefIel HTell T T,

2 |6 3 ?
80 | 24 120 | 36

What is the missing number?

qeaRIegTear Sl AT FHIOTr?
A) 7 C) 9
B) 8 D) 10

88) Raju has Rs.9000 with him and he wants to buy a mobile handset;but he finds that he has only 75% of the amount
required to buy the handsct. Therefore, he borrows Rs.2000 from a friend. Then

Wﬁaoooﬁﬂ%ﬁ.mmréﬂmmm.ﬁgmméﬁmmm
mmwaq%mammamm.wmmwaowa

IFAAR U, @
A) Raju Still does not have enough amount to buy the
handset
B) Raju has exactly the same amount as require
the handset

C) Raju has enough amount to buy the handset
and he will have Rs.S00 with him after

d to buy buying the handset

D) Raju has enough amount to buy the handset
and he will have Rs.1000 with him after
buying the handset

[AF v 13
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He again turns left and

: ; 2 km. :
hen tums to his lefl and walks for .« he from the starting
i 3 km towards North, t y rs is he
9 Rol;;m;)vn;k; a‘d;::zigci::;;m he turns to his left and walks for 3 km. how many kilomete
walks for 3 km.

point ?

et et 3 PRl 3t e AR A ST g 2 sy e &
3 sy e, BT SaE A SIS a5 3 AT Arerer.

JRIER A7
A) 1km
B) 2km

Wg@ﬁgma-

C) 3km
D) 5km

io sh but smaller than
90) Among five friends Mahesh is taller than Kunal but not tall as Yash. Ajay is t'alle; than Ya
Abhisl?ek. If they stand in increasing order of their heights, who will be first in line 7

Wﬁamﬁmrmwﬁwéﬂm,ﬂgmrmjam,mﬁmﬁﬁﬁﬁﬂég
Mwmmammmmmmmqﬁmm

?

A) Abhishek
B) Yash

C) Kunal
D) Data inadequate

¢ - , s ‘avoi 1 habit’ and
91) In a certain language , ‘pre nat bis’ means ‘smoking is harmful’, ‘vog dor nat’ means ‘avoid harm;'u
‘dor bis yel” means ‘please avoid smoking’. Which of the following means *habit’ in that language :

TN Hihfad S ‘pre nat bis” FgUTST ‘smoking is harmful’, ‘vog dor nat’ #gursl ‘avoid harmful
habit’ 3nfor “dor bis yel’ #guret ‘please avoid smoking’. @Y T ST HoTedT e Y ‘habit’

34T g ?
A) vog
B) nat-

92) Glucometer : Blood Sugar : : Sphygmomanometer : ?
TR EFEAR TR IR
A) Earthquake
B) Bload Pressure

93) Cardiologist : Heart : :Dermatologist : ?
BT T+ @ g caARIT de: ?
A) Dream
B) Diabetes

94) Botany : Plants : : Seismology : ?

TAFTARMET  TATTA o2 PR : ?
A) Birds

: ?

C) dor
D) bis

C) Atmospheric Pressure
D) Specific Gravity

C) Skin
D) Infertility

C) Earthquakes
B) Animal D) Water
95) Which word do not fit in the group:
T  THUIRT ASE HIOTAT ?
A) Diamond C) Coal
B) Gold D) Graphite
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96) The sum of three consceutive numbers is 93. The greatest among these three numbers is

97)

" 98)

99)

17 AT AUT-AT T AU /3 I, T T A HCAHANT HA FEY HEAT FIUT?

A) 27 NI TERRN ) 7 1 80 e
B) 28 E a D) 32

Ganesh sold a car to Sarthak at 15% profit, Sarthak sold car to Ankur at 5% loss for Rs.43,700. Find the price at
which Ganesh had purchased the car. —

mﬁarﬁtcs%méqawwuﬁmﬁmﬁ.m%amwmmmmsmw,um
o7 e, av ToRE o FR Fdr FoamEeY @ Fe?

A) Rs.40,000 : C) Rs.48,000
B) Rs.32,000 D) Rs.46,000
2589*1 is completely divisible by 11. Which digit from below should be in place of *?
u¢q+t A HEAGT ¢ A qOT HIT SAUAHTS + =7 Sl Wiy HioTar e IJFEr?
A) 3 ' C) 7
B) 4 D) 5
Find the sel of characters in place of question mark:
* geefRETET Sl ST T AgA?
ACFJO, BDGKP, CEHLQ, 2. ,
A) DFLMR - * : C) DFIMR Rl
B) DFINR D) DFIMS

100) Price of an article is Rs.3500 and is sold at a 10% discount. A further discount of 5% is given due to off-season.

=

What is the selling price of an article? ;
TF 3yeo F. fehACIHl aF] vo%ﬂgaaﬁfammmﬁm?ﬁarwmq%zﬁrﬁrﬁrm

A) Rs.2975.5 ‘ C) Rs.3100
B) Rs.2992.5 - D) Rs.3050
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